Date : 21-May-2024
LOCKSOLAR
Price (THB
LOCK SOLAR COMMERCIAL QUOTATION Quantity | Unit ';)C:r‘Pcs )
1-299 Set 1,240
Walk Way XS-53x400x2400 mm., Angles 30x30x3 mm., HDG Steel 300+ Set 1200

This set includes :

1 |Grating 53x400x2400 mm. 1 Pcs

2 |Hex Head Bolt M8x25 HDG 2 Pcs

3 |Hex Nut M8 HDG 2 Pcs

4 |Spring Washer M8 HDG 2 Pcs

5 |Plan Flat Washer M8 HDG 2 Pcs
Fodague 300 ya dulal ;A 1VLAR 1,200 1IN/20
s 9l VAT £9'13i570 ANuug9
gulafiaca ALUSR Sudynslae (7)) lwasfaaa 093-132-3350

Aaualzuuy Yuivue (WWsu) washaca 063-916-7482
2400
L)" + 298 4 29 - bo. —r= 29 -+ 9 20 + M _!
Angies I0xI0x3 mem-1.36 kg/
Anges 30x3x3 mm—1.38 kg/r
2400,
I 15

T

L

—

i

JALL

e
f“ﬂ—w“—v

i

OO 5&‘ x’ )
x/:rxé’ té
!& “ “1 Ai:,l}klxl

xggzgj
o g i

Dxponded Meta # X533

Pokandotn Lrdrzmiuf 2 Srumaems = 15mm —
Anges 30u30s3 mm=1.36 K§/M

SOOKET BOLT U8 STANLESS STLLL
DO CLAUP 30 M.

w Mela ¢ X583
Sohanindn Wilimwesiifi 2 Snmnem = 15w,
Anges 30a30e3 mm=1.38 kg

BAL TOLAR MOUNTING:-

¥

13,

QQ,

S S B mave.

TENG WADAR, WB (OG.)

Eepgpscusa]




, SUPPORT WALK WAY @ 1000

1200 mm._, SUPPORT WALK WAY @ 1000

1200 mm._, SUPPORT WALK WAY @ 1000

1200 mm._, SUPPORT WALK WAY @ 1000

1200 mm. ,

A

1

2400.00
[ T - | - ] 1 ° T T 10 T T - I | ° T 1
SECTION VIEW B
fnda WALK WAY s
BOLT L25mm.,NUT, FLAT WASHER,
Expanded Metal #X553 SPRING WASHER, M8 (HDG.)
ANAILMANAN TSraLsUVNFEDIAIUNINEID 15mm \ﬂ_l_l_l_l_l T VT T

j dop

dep

END CLAMP T30mm.

Angles 30x30x3 mm 1.36
FWITDINRUD WU A

SECTION VIEW A

Expanded Metal #XS53

END CLAMP 30mm

fnsianiin JsrazsunIdavnIuaIngd 15mm

ISOMETRIC VIEW

B

DETAIL VIEW I

1.BOLT L25mm
2.NUT

3.FLAT WASHER
4.SPRING WASHER
M8 (HDG.)

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

SURFACE FINISH:

TOLERANCES:

LINEAR:

ANGULAR:

NAME

DRAWN PATCHARA
CHK'D | MATHAS/UTAN
APPV'D SUMALEE
MFG

QA

312.00

296.00 , 296.00 _, 296.00

296.00 _,

296.00 _,_ 296.00 ,  312.00

I
o
<
I ! ! | | | | =
o
<
T T T ! I ] ]
NAngles 30x30x3 mm 1.36 kg/m BOTTOM VIEW
[ 2400.00 . 8
] 1 =
o
(@)
o
(@)
<
8
UPPORT WALK WAY @ 1000 - 1200 mm.,| SUPPORT WALK WAY @ 1000 - 1200 mm. | 3

\S

Expanded Metal #XS53

TOP VIEW

fncvianiin JszazsunIdavnIuaInNg? 15mm

[ /

Expanded Metal #XS53

fnsinanin J5zuzsunIdavnIuaIngd 15mm

HOLE @ 10mm.|,m::§v5m
davnunNgIvay WALK WAY

3 2

REVISION  21-06-2024

Ltd.

A3

o
S
3 400.00 800.00 800.00 400.00
2400.00
ELEVATION VIEW A
FINISH: DO NOT SCALE DRAWING
Hot Dip @
Galvanized ) Lock Solar International Co.,
LOCK=0OLAR
SIGNATURE DATE TITLE:
21/06/2024
MATERIAL: DWG NO.
HDG Steel WALKWAY DETAIL INSTALLATION
WEIGHT: 18KG SCALE:1:50 SHEET 1 OF 1

A



	Sheet1
	Drawing View4
	Section View B-B
	Detail View C (1 : 2)
	Section View D-D
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Detail View F (1 : 10)
	Drawing View15
	Section View B-B
	Detail View I (1 : 2)
	Section View A-A
	Drawing View19
	Detail View M (1 : 2)


